0000 IIooooooo (0 110)
gd

O000000¢t=000000 SO00000000 e=E,sin(wt+0) 000000000000 4(t)
OO00oo0oo0o00oopoooOooooog e0ooOoOoOoOO

oo
000000000 ¢ 000000000000000000000000000000000O0O0

Ri(t) + ? = E,, sin(wt + 0)

000000000 é(t)=dg(t)/dd 0000000000000

dg(t)  q(t) . .
7 + 7 = Em Sln(wt + 0)

000 ¢(t) 0000 () 000000000000000000000000

dgs(t)  qs(t)

R

R 7t + e = E,, sin(wt + 60)
dgi(t) | q:(t)
R =0
dt + C
0000000000000 0000000000000O00O0000DO0OU000O0O0d/dt— jwO0O0O
]wRQs+%— me’’

ob0 Q@ 00booobooboobooogooon

CE,,el? ) 1 iy CE,, ; /
o= CEn _cpon_ Lo CEn0-#) (i l(eCR)
1+ jwCR 1+ (wCR)? V14 (wCR)?

ooooooooon

qs(t) = Qsin(wt + 0 — ¢') (Qm — i)

v1+ (wCR)?
ooooo
0ooooooo
q(t) = Ae ©r (A:0000)

00000000000 ¢)000on
a(t) = qs(t) + qu(t) = Qusin(wt + 6 — ¢') + Ae~ TR
00000000000000 ¢=00 ¢(t=0=0000000
q(0) =Qmsin(d —¢')+ A=0 — A=—-Qusin(d—4¢)
0000000000000 4(t) O

i(t) = dtil(tt) = —}—E(ZCR)2 {wC cos(wt +6 — ¢') + %sin(@ - qﬁ')eCtR} , (¢ =tan"'(wCR))

oooooooooDboogenoOoO

60— ¢ ==+m/2 — 0=¢ £m/2



